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Darrol Barry 

Instrumentation�
Concert�Band�–�Harmonie�–�Blasorchester�

1� Full�Score�
5� Flute�1,2�
2� Oboe�
2� Bassoon�1,2�
1� Eb�Clarinet�
5� Bb�Clarinet�1�
5� Bb�Clarinet�2�
5� Bb�Clarinet�3�
1� Eb�Alto�Clarinet�
1� Bb�Bass�Clarinet�
1� Bb�Soprano�Saxophone�
1� Eb�Alto�Saxophone�1�
1� Eb�Alto�Saxophone�2�
2� Bb�Tenor�Saxophone�
1� Eb�Baritone�Saxophone�
3� Bb�Trumpet/Cornet�1�
3� Bb�Trumpet/Cornet�2�
3� Bb�Trumpet/Cornet�3�
1� Eb�Horn�1�
1� F�Horn�1�
1� Eb�Horn�2�
1� F�Horn�2�
1� Eb�Horn�3�
1� F�Horn�3�
2� C�Trombone�1�
1� Bb�Trombone�1�(Bass Clef)�
1� Bb�Trombone�1�(Treble Clef)�
2� C�Trombone�2�
1� Bb�Trombone�2�(Bass Clef)�
1� Bb�Trombone�2�(Treble Clef)�
2� C�Trombone�3�
1� Bb�Trombone�3�(Bass Clef)�
1� Bb�Trombone�3�(Treble Clef)�
�

2� C�Euphonium/Baritone�
2� Bb�Euphonium/Baritone�(Bass Clef)�
2� Bb�Euphonium/Baritone�(Treble Clef)�
2� Eb�Bass�(Bass Clef)�
2� Eb�Bass�(Treble Clef)�
2� Bb�Bass�(Bass Clef)�
2� Bb�Bass�(Treble Clef)�
4� C�Bass�(Stringbass)�
1� Timpani�
1� Drums�
1� Tambourine�
1� Glockenspiel�

�

Additional Parts Included�
�
1� Eb�Flugelhorn�
1� Bb�Flugelhorn�1�
1� Bb�Flugelhorn�2�
1� Bb�Flugelhorn�3�
1� Bb�Baritone/Tenorhorn�1�
1� Bb�Baritone/Tenorhorn�2�
1� Electric�Bass�Guitar�
�
�
�
�
�
�

www.bernaertsmusic.com�

No part of this publication may be reproduced in any form of print without prior and written permission of the publisher. 

Darrol Barry 

Concert�Band�–�Harmonie�–�Blasorchester
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